Efficiency vs dr

« 0.05

0.8

10°

'|I||{' iE
0.6/H - -4
bl

1072 107

‘—— DQM_CKF_SoftQCD
—— DQM_mkFit_SoftQCD-

1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.02_
00.018F
- n
%).016_
D.014F
> o
D.012F
o c
=]

£ 0.01
© E
0.008F
0.006F
0.004F
0.002

Efficiency vs pu

1072 107
AR(TP, jet)

50.02
o
9.018
d.016
(]
®.014
=
%.012
0.0

0.008F -4+
0.006f -+
0.004f++i----4
0.002F ----- :

....................................

....................................

....................................

Ratio

6 8 10 12 14 16 18 20

Pileup



	Contents
	Page 1


